B tpeyronerure 4BC vrox C paeest 90°, AC =4, cosA =(0.5. Hafinure 45,

B tpeyronermre 45C yrox C pager 30°,_ 4C'=8. tgA =0 5. Hafimure BC

B tpeyronssrke 48C yron O paeer 90°, cosA = V;?.BC= 2 Hafgure AC.

B tpeyronerage 48C yron C paser 907, AC =24, BC = 7. Hafigmre sinA.

B 1peyromennks 4BC yroa C pageH 90°, CH — enicota, AB = 13, tgA = 5. Hafimate 8.

1
B tpeyromerHEe 4BC vron C pager 90°, CH — pricota, BC =3, sinAd = 6,H.aﬁ:l;nTc_-£H

B Tpeyronermre ABC yroa C pageH 90°, BC =35, sind = QTS,Haﬁme BRICOTY CHL

35
B tpeyronsuuke ARC yroa C papen 90°, CH— ericota, BC =3, cosA = v;_ Hafimre 4AH.

B 1peyroncumke ABC yroa C pagen 90°, CH — suicota, BC = 25, BH = 20. Hafimute cosA.

B 1peyvronesuxe 4BC yroa C pasex 90°, seicota CH passa 20, BC = 25. HafiauTe sinA.

=9

Y
~ >q

N

h Y

D

-

=

=
s3]

o

D

=
B
==

\

B,
=
=

\

-
.y
]

\

S
I
=

\

=+
@

N

ta,
T
o



